Algebra 1
Practice problems
Quiz 4.7 today
Test Ch. 4 Tues.

There will be graphing calculator question(s) on the test

whiteboards



Example 8

Find the inverse of the relation.
{(5, =3), (11, 2), (—6, 12), (4, —2)}
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Find the mvgrse of k&) = 4x + 9.
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Write an equation of a line in glope-intercept form with
slope —5 and y-intercept —3. Then graph the equation.

Y= -Sx+-3
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Write an equation of the line that passes through (3, 2)
with a slope of 5. > —45- K +R
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-\ = ant-x,

Write an equation6f the line that passes t?rough the given

poinj
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14. Write an equation in poinf-slope form for the line that
passes through the point (8, g), m=—2.
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16. Writd y+4 = —7(x — Biin slope-intercept form.

= y=m>*8
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Example 6

The scatter plot displays the number of texts and the
number of calls made dail
of fit.

2 4 6 8 1012 14167%

-3 ,°
> g% Mg

{C:.ljls = ‘%-hxfs ~q, zJ

rite an equation for the line

Old school



Example 7 graphing calculator

\) "
ATTENDANCE The table shows the annual alEfaance . . 0 <,
at an amusement park. Write an equation of the g Q'L = -_— o
. 5 o (@) Y
regression line for the data. —
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Attendance
(thousands)

80 | 72 | 68 | 65 | 60 | 53







